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EZNE3| 821| 24630 |®E3mmd| 650| 1,310 |EN#E3| 134,460| 137,160| 169560| 190,860| 236,460
EN#4 | 874| 26220 |:3BEE| 1,360| 1,310 |EN#E4| 136,050| 138750| 171,450| 192450| 238,050
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DOEEASHSEMNC. KB T Eﬂ§§4 37470 51,270 59,070| 80370| 97470
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ZNE1 | 1,428| 42,840| 2,142 64,260 551 R ENEA 254,670 276,090
=n#2 | 1518 45540| 2277| 68310 EOERNE =| ENE2 257,370 280,140
N3 [ 1,642 49260 2463| 73890 |m3EmEED ENE3 261,090 285,720
EniE4 | 1,748 52440| 2622| 78660 |[H3mEEE ENE4 264,270 290,490
En#Es5 | 1,850 55500 2775 83250 maepe [ 1,850( 2,340 | ENES 267,330 295,080
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